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Q1. Select the number pair in which the
two numbers are related. In the same way
as are the two numbers of the following
number pair?

. N O i\ N A S
IH AT LIH T AT hd [STHH (AT H&TU
GeTeard gl IHT T S e ieriad Jedm 0
&1 &7 GEgTU g2

13: 16
(A)1
(B)1
(C)1
()
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Q2. Select the set in which the
numbers are related in the same way
as are the number of following set.
S He AT T4 FY 6 qEAT0 IHT TFY
HATAd g ST Mo Iied 92 it 91U 2|
(3, 8, 16)

(A)2, 9,
16)
(B)(4, 10,
7))
C)(1. 2
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Q3. Mahatma is related to
Rabindranath Tagore in the same
way. Netaji is Related to?
HETHT T G T T ST H AT
?'W%l TSIt T dae fohas

"

(A)Gandhi
(B)Naoroji
(C)Hitler
(D)Devdutt
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— Q4. Select the option that is related to the third letter
cluster in the same way second Is related to the first

letter cluster.
39 Tashed &7 =T34 L ST qHEY AAT-9HE 9 4T Th1T
GeTad g 1o TR T U Ae3-9qg ¥ 9419 2|

ACDF: ZXWU:: BDEG:?
(A)YVW
T
(B)YWV
T
(C)XVW
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Q5 . The sum of the squares of three numbers is
336 and the ratio of the first and the second as also
of the second and the third is 1:2. Then find the
difference of third and first number

T FEATSAT o ATl T TRT 336 B 3T T8l Y gail
TAT TELT ST ATHL 7 AT 1:2 g1 v 1T 3T
TEAT T&IT T FAL AT shiord
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Q.6 A paper is folded and cut as shown below.
How will it appear when unfolded?
T TS ol A= [R@TU SATHTE HIST T Tl STaT 2l

A

GAd T T2 4T (RO 58

(A)A
(B)B
(C)C
(D)D
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Q 7. In a code language, TABLEPADS in written
as BADCYGAPJ. How will BACKSPACE be
written as in that language”?

U e AT9T H, TABLEPADS % BADCYGAPJ
fer@T STar g 39 91T § BACKSPACE =+ ferar
STTUAT?

(A)DAEBJGA
EY

(B)DEIBJGEI
Y

(C)DAJBJGA
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Q 8 . Which number will replace the question mark

(?) in the following series?

ﬁﬁﬁ%ﬁwffaﬁ?ﬁwga%ﬁ(?)mwm
?

4,

10,

27,

140,

(A)379
(B)973
(C)937
(D)397
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Q.9 If PEAR is coded as 7519 and TOIL is
coded as 2693, then how will DOCTOR be

coded

Tfe PEAR T 7519 31T TOIL &7 2693 9 Fi
=T 797 g, @ DOCTOR =T & &ie fohaT

STTUATT

(A)4632
69
(B)4637
29
(C)4632
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Q10 . Select the set in which the number are
related in the same way as are the number of the

following set.

3T T HT FIT 7 (O70H H&ATU IHT TR Ha(2d g of
eterterd 9< &t 977U g

(3, 13, 196)

(A)(4, 14,
441)
(B)(2, 12,
287)
C)(5. 15
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Q.11 How many triangles are present in the
following figure?
qielE 87
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Q 12 . Select the set in which the numbers are
related in the same way as are the numbers of the
following set.

39 U< &7 FI9 L o qH H a0 I TR Fa19d ¢
ST AT 9e i 91U 2|

oo (A)(11, 136,
47)
(B)(7, 89,
31)
(C)(9, 121,
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Q 13 . Select the term that will come next in the
following series.

39 T2 AT FI9 L AT AEieried J@ar § et

AT
3, 27, 243, 2187,
(A)271
39
(B)135
61

(C)213
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Q.14 Arrange the following words in a logical and
meaningful order
et ey FRGLGRsSTT 9% 7 | e
G 2. Campaign

3. Sworn

4. Nominatio

ns A
5. Polling
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Q.15 Select the option that is related to the third
number in the same way as the second number is
related to the first number.

39 Tashed T A9 L AT AT G&AT § IHT TR

HaTad § ST TH 9T Ugat 9edT ¥ ga14d g

81:63::74:
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e Q.16 If MOUSE = 2.5, RAJESH = 3 then,
DEEPIKA is equal to”?
Ite MOUSE = 2.5, RAJESH = 3 a1 DEEPIKA
Feoheleh aXTa< g7
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Q.17 BOHMF is Codded as ANGLE, then

what will be the third alphabet in the code

for the word QBOLBK.

BOHMF T ANGLE & ®9 # sifed haT T
g, I QBOLBK 91z & 1T i | e e

-
FAT ST

(A)P
(B)A
(C)M
(D) N
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Q.18 Select the Venn diagram that best illustrates
the Relationship between the following clauses
3 I AT T AT L AT M Ed GS1 6 o4
e I A9 9 F 2901d7 o

Cup, Tea, Coffee.
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Q.19 Two positions of the same dice
are shown. Which number will be at
the top if 3 is at the bottom’?
Q?B T T =7 37 it faars 1 2

XS e,
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Q 20. If + denote —, — denote *, * denote
x, x denote +, then what will be numerical
value of

T2 + Frefie -, - st =, * el x, x
FEOT +, 7 T GeATcHS JT 4T g
30+28x7+14* 2.
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